
831-656V80

IN221100510V02_GL

1
US_CA

1 HRSTEPS
10



2



3



4



5



6



G 12

M3*14

F 4

M4*16

E 4

C 8

M6*30

B 28A 28

M6*35
+1(spare)

+1(spare)

O 4N 16M 21

K 1J 1I 4

H 2

M3.5 *12

D 48

M3*12

L 1

CL 4

M4*40

M4*14

+1(spare)

+1(spare)

+2(spare)

CR 4

+1(spare)

4 DR 4

M4*35

DL

M4*30
+1(spare)

7



02

CL x  4 CR x 4A x  8

01

D x 24

M x 1

L x 1 A x  20

EN_Please find the exact hole for installation, otherwise it will be misaligned.The screws on the 
drawer slide must be leveled , otherwise it will affect the smoothness of the drawer.
FR_Identifiez le trou exact pour l'installation, sinon il sera mal aligné. Les vis de la glissière du 
tiroir doivent être nivelées, sinon cela affectera le fonctionnement du tiroir.
ES_Al instalar, encuentre el orificio exacto; de lo contrario, estará desalineado. Los tornillos en 
las correderas del cajón deben estar nivelados, de lo contrario, afectará la suavidad al deslizar 
el cajón.
DE_Bitte finden Sie das genaue Loch für die Installation, sonst wird es falsch ausgerichtet 
werden. Die Schrauben an der Schubladenführung müssen nivelliert werden, da sonst die 
Leichtgängigkeit der Schublade beeinträchtigt wird.
IT_individuare il foro esatto per l'installazione, altrimenti ci sarà un disallineamento. Le viti sulla 
guida del cassetto devono essere allineate, altrimenti influirà sulla scorrevolezza del cassetto.

8



I x  4

04

B x  8

C x 4

03

8



06

05

M x 20

10



G x 12H x 12

07

B x  4 C x 4

-10-

O x 4

O

O



K x 1 J x 1

08
EN_This is anti-dumping belt that fix the product to the wall and it can be used or not follow 
your needs.
FR_Cette sangle anti-basculement permet de fixer le produit au mur. Elle peut être utilisée 
ou non selon vos besoins.
ES_Esta es una correa anti-vuelco para fijar el producto a la pared, y según sus 
necesidades, puede utilizarla o no.
DE_Dies ist Anti-Sturz-Gurt, um das Gerät an der Wand zu befestigen und es kann je nach 
Bedarf verwendet oder nicht verwendet werden.
IT_Questa è una cintura anticaduta che fissa il prodotto alla parete e può essere utilizzata 
o meno a seconda delle vostre esigenze.

EN_If it is a solid wall, please use expansion and self-tapping screws, if it is a wooden wall, 
only use self-tapping screws, please do not overtighten the screws
FR_Si le mur est massif, veuillez utiliser des chevilles à expansion et des vis 
autotaraudeuses, mais s'il s'agit d'un mur en bois, utilisez uniquement des vis 
autotaraudeuses et ne serrez pas trop les vis.
ES_Para una pared sólida, utilice los tornillos de expansión y autorroscantes. Para una 
pared de madera, utilice exclusivamente los tornillos autorroscantes, no los apriete 
demasiado.
DE_Wenn es sich um eine Massivwand handelt, verwenden Sie bitte Dehnungs- und 
selbstschneidende Schrauben. Wenn es sich um eine Holzwand handelt, verwenden Sie 
nur selbstschneidende Schrauben, bitte ziehen Sie die Schrauben nicht zu fest an.
IT_Se si tratta di un muro solido, utilizzare sia viti ad espansione che autofilettanti. Se si 
tratta di una parete in legno, utilizzare solo viti autofilettanti, non stringere eccessivamente 
le viti.

12



09

N x  16DL x 4F x 4

E x 4

B x  16 DR x 4

EN_Please find the exact hole for installation, otherwise it will be misaligned.The screws on the 
drawer slide must be leveled , otherwise it will affect the smoothness of the drawer.
FR_Identifiez le trou exact pour l'installation, sinon il sera mal aligné. Les vis de la glissière du 
tiroir doivent être nivelées, sinon cela affectera le fonctionnement du tiroir.
ES_Al instalar, encuentre el orificio exacto; de lo contrario, estará desalineado. Los tornillos en 
las correderas del cajón deben estar nivelados, de lo contrario, afectará la suavidad al deslizar 
el cajón.
DE_Bitte finden Sie das genaue Loch für die Installation, sonst wird es falsch ausgerichtet 
werden. Die Schrauben an der Schubladenführung müssen nivelliert werden, da sonst die 
Leichtgängigkeit der Schublade beeinträchtigt wird.
IT_individuare il foro esatto per l'installazione, altrimenti ci sarà un disallineamento. Le viti sulla 
guida del cassetto devono essere allineate, altrimenti influirà sulla scorrevolezza del cassetto.

D x 24

13



D
n
o
e

EN_Be careful to push in the board when the both sides slide way been aligned.
FR_Prenez soin d'enfoncer la planche lorsque les deux côtés de la glissière sont alignés.
ES_Empuje con cuidado el tablero después de que los dos lados se hayan alineado.
DE_Achten Sie darauf, dass Sie die Platte einschieben, wenn die beiden Seiten so ausgerichtet 
sind, dass sie gleiten.
IT_Fare attenzione quando si spinge il cassetto quando le due guide di scorrimento sono state 
allineati.

13



If you have any questions, please contact our 
customer care center, Our contact details are below: 
6 001-877-644-9366 
罗 customerservice@aosom.com
Imported by Aosom LLC 
27150 SW Kinsman Rd Wilsonville, OR 97070 USA 
MADE IN CHINA 

If you have any questions, please contact our 
customer care center, Our contact details are below: 
®416-792-6088 
罗 customerservice@aosom.ca
Imported by Aosom Canada Inc. 
7270 Woodbine Avenue, Unit 307, Markham, 
Ontario Canada L3R 489 
MADE IN CHINA 

Si vous avez la moindre question, veuillez contacter 
notre centre d'assistance a la clientele,Nos 
coordonnees sont les suivantes: 
®416-792-6088 
罗 customerservice@aosom.ca
Imports par Aosom Canada Inc. 
7270 Woodbine Avenue, unite 307, 
Markham, Ontario Canada L3R 489 
FABRIQUE EN CHINE 

If you have any questions, please contact our 
customer care center, Our contact details are below: 
6 0044-800-240-4004 
竖 enquiries@mhstar.co.uk
IMPORTER ADDRESS: 
MH STAR UK LTD 
Unit 27, Perivale Park, 
Horsenden lane South 
Perivale, UB6 ?RH 
MADE IN CHINA 

Wenn Sie Fragen haben, wenden Sie sich bitte 11 
an unser Kundendienstzentrum,Unsere 
Kontaktdaten stehen unten: 
©0049-0(40)-88307530 
罗 service@aosom.de
ADRESSE DES IMPORTEURE/Hersteller/REP: 
MH Handel GmbH 
Wendenstrar..e 309 
D-20537 Hamburg
Germany 
IN CHINA HERGESTELLT 

In caso di dubbio, si prega di contattare ii nostro 
centro assistenza clienti,I nostri dettagli di cont顽o
sono di seguito: e 0039-0249471447 
罗 clienti@aosom.it
IMPORTATO DA/Produttore/REP: 
AOSOM Italy srl 
Centro Direzionale Milanofiori 
Strada 1 Palazzo F 1 
20057 Assago (Ml) 
P. I.: 08567220960
FATTO IN CINA

Si tiene alguna pregunta, comunfquese con 
nuestro Centro de Atenci6n al Cliente,Nuestros 
datos de contacto son los siguientes: 
6 0034-931294512 
罗 atencioncliente@aosom.es 
IMPORTADOR/Fabricante/REP: 
SPANISH AOSOM, S.L. 
C/ROC GROS,N°15.08550, ELS HOSTALETS DE 
BALENYA, SPAIN. 
B66295775 
HECHO EN CHINA 

Se tiver alguma duvida, por favor contacte o 
nosso Centro de Atendimento ao Cliente,Os nossos 
dados de contacto sao os seguintes: 
@ 0034-931294512 
罗 info@aosom.pt.
IMPORTADOR/Fabricante/REP: 
SPANISH AOSOM, S.L 
C.ROC GROS N.15, 08550. ELS HOSTALETS DE
BALENYA
FEITO NA CHINA

Si vous avez la moindre question, veuillez contacter notre centre d'assistance a la clientele,Nos 
coordonnees sont les suivantes: 
®0033-1-84166106 
罗 aosom@mhfrance. fr 
lmporte par/Fabricant/REP: 
MH FRANCE 
2 Rue Maurice Hartmann 
92130 Issy Les Moulineaux 
France 
FABRIQUE EN CHINE 

＠ DONNEZ 
OU 

RECYCLEZ 
总, OU 峦。U 总

ASSOCIATION LIVRAISON DECHETERIE 

Rdresses sur quefairedemesdechets.fr 

15


	说明书
	页 1


